MIAMIDADE MIAMI-DADE COUNTY, FLORIDA
- METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Weather Shield Windows & Doors
One Weather Shield Plaza
Medford, WI 54451

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: Series “Legacy” 2-1/4” Contempra Aluminum Clad Outswing Wood French Door

APPROVAL DOCUMENT: Drawing No. 1211, titled “Legacy Aluminum Clad Outswing French Door”, sheets
1 through 8 of 8, prepared by W.W. Schaefer Engineering & Consulting, P.A., dated 2/20/03, signed and sealed by
Warren Schaefer, P.E., bearing the Miami-Dade County Product Control Approval stamp with the Notice of
Acceptance number and approval date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1 as well as approval document mentioned above.

The submitted documentation was reviewed by Theodore Berman, P.E.

NOA No 03-0421.11
Expiration Date: July 17, 2008
Approval Date: June 17, 2003
Page 1




Weather Shield Windows & Doors

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED
(For File ONLY. Not part of NOA)

A. DRAWINGS
1. Manufacturer's die drawings and sections.
2. Drawing No. 1211, titled “Legacy Aluminum Clad Outswing French Door”,
sheets 1 through 8 of 8, prepared by W.W. Schaefer Engineering & Consulting,
P.A., dated 2/20/03, signed and sealed by Warren Schaefer, P.E.

B. TESTS
1. Test reports on 1)Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of a wood French door,
prepared by Twin City Testing Corporation, Test Report No. TCTCWI02016
dated 10/21/02, signed and sealed by Derrick Swanson, P.E.
3. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
6) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
along with marked-up drawings and installation diagram of a wood French door,
prepared by Twin City Testing Corporation, Test Report No. TCTCWI102013
dated 8/20/02, signed and sealed by Derrick Swanson, P.E.

C. CALCULATIONS
1. Anchor Calculations and structural analysis, prepared by W.W. Schaefer
Engineering & Consulting, P.A., dated 3/27/03, signed and sealed by Warren
Schaefer, P.E.

D. MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 01-0205.02 issued to Cardinal LG for “Saflex /
Keepsafe Maximum” dated 5/17/01, expiring on 5/21/06.

E. STATEMENTS

1. Statement letter of conformance, dated 3/31/03, signed and sealed by Warren
Schaefer, P.E.
2. Statement letter of no financial interest, dated 3/31/03, signed and sealed by

Warren Schaefer, P.E.
F. OTHER

1. Letter from the consultant stating that the pro is in compliance with the
Florida Building Code (FBC). | Ly s
\

Theodore Berman, P.E.

Deputy Director, Product Control Division
NOA No 03-0421.11

Expiration Date: July 17, 2008

Approval Date: June 17, 2003



I | | -

37 3 /4” MAX DRAWN BY: |CHECKED BY:
. K.P.S. W.W.S,
) 74" MAX. FRAME WIDTH (F.W.) TYPICAL FRAME SCREWS (ONE AT T FRAME WIDTH (F.W.) - "iate | o720/03
6 MAX_ 4 EACH HEAD JAMB CORNER, 3 AT 29 /B | 6" MAX
(me.) | 5) 7|‘ 7'L HEAD MIDSPAN & TWO THRU STRKE @ @ I__\ (TYP.) "
s = —J— — - M + . —. . STRIKE PLATE) SEE "FRAME . — 17— — —F # :j37-11 GA. X 1 1/2" °
7 l ON THIS SHEET FOR OTHER \ 7% 1 5/8" oRwALL B
— FASTENER REQUIREMENTS. SOREWS SPACED Ae
SEE "CORNER . _/ REQUIRED TO SECURE  ||3
// | \ CONSTRUCTION" 11 GA. X 1 1/2" ROOFING l \SEE "CORNER— & SEAL NAILING FIN é
/ NOTE ON SHEET 2. NAILS OR NO. 7 X 1 5/8" CONSTRUCTION 4
/ N\ DRYWALL SCREWS SPACED Loy NOTE ON SHEET 2. 8
(373839040 ( AS REQUIRED TO SECURE & ————H \ 8
SEAL NAILING FIN g
HINGE A ACTVE | EAL AL 12" 0.C. ) NO. 10 S.S. WOOD 2
| PANEL ; ] MAX (7383949 SCREW OR MIN. 3/16” |
/ AN NO. 10 S.S. WOOD SCREW OF AINGE CONCRETE SCREW (2 ||$
NACTVE | MIN. 3/16” CONCRETE SCREW (2 \ PER HINGE INTO
-~ / PANEL AN PER HINGE INTO SUPPORTING ~ s \ SUPPORTING "
T J HARDWARE ) SUBSTRATE). SEE "FRAME T 9 F SUBSTRATE). SEE o
L 4 / STRKE N\ : ANCHOR REQUIREMENTS” TABLE L 4 Pl vamoware \ "FRAME ANCHOR 3 <
= INACTIVE ACTIVE ON THIS SHEET FOR OTHER = e REQUIREMENTS” TABLE QN
S z | FASTENER REQUIREMENTS. &z -l- | ON THIS SHEET FOR ol 82
S _ o s  EXDH i . O CTy REQUIRENENTS. | S| 2a3y
w ©° w L 6 : —
Y 2 \&/ \E A8/ l y 2 \E&/ I kPPJS\IT_E/ 2] g a3
= B (42)  opposITE . T B A OPPO . 2 I_¢
£ - mg&\ ACTVE | = - L @ | ~NAILING FIN 1S OPTIONAL & | 5 | § “%
%X R \ e N il HANDLE % R I ACTVE y / MAY BE SCORED AND il INT=IN
NolBd AL . © LA A REMOVED WHEN REQURED || & | 3 TX |
= = (@]
: I / i ) | FOR A DIRECT MOUNT Sl EELC
3 \25 7/16" e TYPICAL FRAME SCREWS INTO S ¢ 25 7/16"/ CONDITION. (NAIL FIN SHALL || & | & £@™
: / . SUBSTRATE (ONE AT EACH SILL . — ' Z =
MAX. D.L.O. l MAX. D.L.O. NOT ACT AS A SUBSTITUTE || = | o
) CORNER, 3 AT SILL MIDSPAN & 3 FOR THE FRAME SHEAR ? je 2
\ "/ THROUGH STRIKE PLATE) SEE "FRAME | 36" / SoREW S5ELS
‘ A ANCHOR REQUIREMENTS TABLE" ON ‘ | | CREWS SPECIFIED) o 55
AN / THIS SHEET FOR OTHER FASTENER | / o 5=
] % -33) REQUIREMENTS (APPLICABLE WITH | // TYPICAL FRAME SCREWS INTO || 3 |2
/ STRIKE / : BUMPER THRESHOLD. FOR ADA STRIKE | / , / SUBSTRATE POSITIONED AS © -
| \ PLATE | THRESHOLD CONDITION, SEE "ADA SILL PLATE SHOWN. SEE "FRAME ANCHOR || = | © S
. : DETAIL” ON SHEET 7). ' REQUIREMENTS TABLE” ON 2| £ %ol
T N / ) ﬁ— Y, THIS SHEET FOR OTHER = | B, 30
‘t‘ Saree / '1‘ B FASTENER REQUIREMENTS. 2| 22"z
. PLATE NAILING FIN IS OPTIONAL & MAY BE SCORED . o | Fes o
| | e l AND REMOVED WHEN REQUIRED FOR A DIRECT | ‘!i 5| 22 g¢°
\ MOUNT CONDITION. (NAIL FIN SHALL NOT ACT  p» , o | m5Ces
e C B q bodelk q AS A SUBSTITUTE FOR THE FRAME SHEAR 6(TY"';A;(‘ - &Y ¢ q 3 MAX S} BT
(TYP.) 6" 6 SCREWS SPECIFIED) ' STRIKE (P.) 4 1,58 258
EXTERIOR ELEVATION _ - ™" EXTERIOR ELEVATION Z %:Z;;m
= ) ma i
DOUBLE RECTANGULAR FRAME ANCHOR REQUIREMENTS TABLE SINGLE_RECTANGULAR W“m-mwuu. = |22
OPENING TYPE JAMB TO OPENING MINIMUM | MINIMUM s__Jo= z
OUTSW|N? DO’OR" (SUBSTRATE) FASTENER TYPE | EMBEDMENT [EDGE DIST. OUTSWIN? DO,OR,, N"M : .
GENERAL NOTES SCALE: 3/4" = 1'=0 2X_ WOOD FRAME OR BUCK| NO. 10 SMS SCREW | | 1/4" | 3/4 SCALE: 3/4" = 1'-0 ~ - u
w 1. THESE DOOR SYSTEMS HAVE BEEN TESTED, ANALYZED AND APPROVED FOR DESIGN CMU/CONCRETE 3/16" CONCR. SCREW | @ 1/4" 2" % ;‘:’ g:‘ﬁ
PRESSURES NOT TO EXCEED THOSE SHOWN IN THE "ALLOWABLE DESIGN LOADS” TABLE. : ¥
CONCRETE SCREWS SHALL BE ITW RAMSET/RED H<AD TAPCONS, , oS
. UBCIG, Cr  SRCONG TTONT g e 0506 & COnS SRR AR i B oM SERER e oo ALLOWABLE DESIGN_LOAD :
>l P RN P B R e o - ([AROENED STEEL OF 53 POSTVE [ NEGATIVE N[
4. THE DETALS & SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS TESTED & * SHEAR SCREW ANCHOR NOTE: FRAME MAY BE EiHER DIRECT MOUNTED TO THE 60 PSF 75 PSF Zo
PROPOSED FOR WATER, AIR, IMPACT, CYCLIC & UNIFORM STATIC AIR PRESSURE TESTING OPEN|NG, MOUNTED ONTO A CONTINUOUS SPACE[-{, OR ANCHORED TO A MIN. E
DArer heaiE CEiohTH FLORIDA BUILDING CODE PROTOCOLS TAS-201, 202 & 203 FOR 2x4 NO. 3 SOUTHERN PINE WOOD BUCK. WHEN ANCHORED TO A 2x4 BUCK, s
5. THESE DOOR SYSTEMS HAVE BEEN DESIGNED IN ACCORDANCE WITH THE FLORIDA NO. 10 SCREWS SHALL BE USED. WHEN DIRECT MOUNTED OR MOUNTED WITH HINGE REQUIREMENTS T e
] lBr\Aullk?:l‘INGSH%%?’ERgFER%)NOT REQUIRED WITH THESE. DOORS SPACER, 3/16" CONCRETE SCREW SHALL BE USED. SEE "FRAME ANCHOR DOOR HEIGHT # HINGES REQ'D 1211 ’ ’
7. ALL ANCHORS SHALL BE INSTALLED AS SPECIFIED ON THESE DRAWINGS. SPECIFIED REQUIREMENTS TABLE" FOR EMBED REQUIREMENTS. PROPER MATERIAL SHALL BE ALL SIZES 7 STRET RO,
EMBEDMENT TO BASE MATERIAL SHALL BE BEYOND WALL FINISH OR STUCCO. USED BETWEEN ALL DISIMILAR MATERIALS (BLOCK/CONCRETE & ALUMINUM). 1 oF 8

- | ~ |



—

TYPICAL FRAME SCREWS (ONE AT

FACH HEAD JAMB CORNER, 3 AT
HEAD MIDSPAN & 2 THRU
STRIKE PLATE) SEE "FRAME
ANCHOR REQUIREMENTS TABLE”

ON THIS SHEET FOR OTHER
FASTENER REQUIREMENTS.

11 GA. X 1 1/2" ROOFING
NAILS OR NO. 7 X 1 5/8"
DRYWALL SCREWS SPACED
' AS REQUIRED TO SECURE &
SEAL NAILING FIN

NO. 10 S.S. WOOD SCREW OR
MIN. 3/16" CONCRETE SCREW (2
PER HINGE INTO SUPPORTING
SUBSTRATE). SEE "FRAME
ANCHOR REQUIREMENTS" TABLE
ON THIS SHEET FOR OTHER
FASTENER REQUIREMENTS.

74" MAX. FRAME WIDTH (F.W.)
6" MAX. A f A 4”’r
) [ e [ p
l‘ g = f/ \% MAX
_ .
_—T &/ | \
STRIKE
// PLATE
- / / SEE "CORNER—)
’ CONSTRUCTION” NOTE
m ON THIS SHEET.
& HIN & /| \
/ ACTIVE \
. INACTIVE PANEL
/ PANEL LOCK
~ LOCK HARDWARE N\
T g V HARDWARE
S 3] 33 \
= - INACTIVE STRIKE ACTIVE
Q >
e D .
w = 6 ~ 6 ~
3(2: § /T . \/ (42) OPPOSITE
Loe \&/ INACTIVE i
% ~ HANDLE HANDLE
: \ NETT
0
“ 25 9/16" /
MAX.\D.L.O. 36" /
/
A\ y/ L A/
PLATE /
>
S\ >

; TYPICAL FRAME SCREWS INVO
%SUBSTRATE (ONE AT EACH SILL
CORNER, 3 AT SILL MIDSPAN & 3
I THROUGH STRIKE PLATE) SEE “FRAME
ANCHOR REQUIREMENTS TABLE" ON
THIS SHEET FOR OTHER FASTENER
REQUIREMENTS (APPLICABLE WITH
BUMPER THRESHOLD. FOR ADA
THRESHOLD CONDITION, SEE "ADA SILL
DETAIL" ON SHEET 7).

FRAME CORNER CONTRUCTION

L

I q
+ 5ok
EXTERIOR ELEVATION
DOUBLE EYEBROW TOP
OUTSWING DOOR
SCALE: 3/4" = 1'-0"

\NAILING FIN IS OPTIONAL & MAY

BE SCORED AND REMOVED WHEN
REQUIRED FOR A DIRECT MOUNT
CONDITION. (NAIL FIN SHALL NOT
ACT AS A SUBSTITUTE FOR THE
FRAME SHEAR SCREWS SPECIFIED)

AT EACH RECTANGULAR DOOR HEAD CORNER AND ALL SIDELITE CORNERS, THE WOOD FRAME MEMBERS ARE DADO CUT, GLUED, PLACED TOGETHER AND MECHANICALLY
FASTENED WITH (3) #8 X 2 1/2" LONG DRYWALL SCREWS.

AT EACH DOOR SILL CORNER, THE WOOD FRAME MEMBERS ARE SQUARE CUT, SEALED WITH A GASKI
DRYWALL SCREWS. A 3/4” HIGH OAK THRESHOLD IS SEALED TO THE SILL WITH SILICONE BACK BED

ET & SILICONE ON THE INTERIOR AND SECURED WITH (3) 2 1/2"
DING AND SECURED WITH SCREWS TO THE WOOD SUB-SILL.

AT EACH DOOR SILL CORNER WITH ADA SILL, THE WOOD FRAME MEMBERS ARE SQUARE CUT AND MECHANICALLY FASTENED WITH (2) #9 X 2" LONG FLATHEAD SCREWS.

THE ALUMINUM FRAME CLADDING MEMBERS ARE MITER CUT AND MECHANICALLY

HEAD AT EACH CORNER.

SASH CORNER _CONSTRUCTION
AT EACH CORNER THE WOOD SASH MEMBER ENDS ARE SQUARE CUT, SEALED WITH A SINGLE BEAD OF SILICONE, WOOD GLUED TO THE WOOD JOINT SURFACES AMD

SECURED WITH 3/4" DIA. X 3" LONG DOWELS, (2) PER TOP CORNER & (4) PER BOTTOM CORNER.
THE ALUMINUM MEMBERS ARE SLIP FITTED TO THE ADJACENT PANEL MEMBER AT FACH CORNER.

FASTENED TOGETHER USING (1) 1 1/4" SCREW OR (1) #6 X 1" LONG SCREW WITH #5

_ 9

37 3/4” MAX.
FRAME WIDTH (F.W.)

’i/"“ (TYP.)
&

6" MAX.

8"

XA 11 GA. X 1 1/2"
y MAX. ROOFING NAILS OR
5 < J / NO. 7 X 1 5/8"
@ , / SEE "CORNER— DRYWALL SCREWS
STRIKE X SPACED AS REQUIRED
i CONSTRUCTION TO SECURE & SEAL
| |\\ N\ NOTE ON NAILING FIN
! ?EEI’ 2.
—L-f- | E @@ NO. 10 S.S. WOOD SCREW
PANEL  \, OR MIN. 3/16” CONCRETE
LOCK l SCREW (2 PER HINGE
= HARDWARE N\ INTO SUPPORTING
T 9 N SUBSTRATE). SEE "FRAME
< 3 ANCHOR REQUIREMENTS”
e STRIE TABLE ON THIS SHEET
s % FOR OTHER FASTENER
S - vy REQUIREMENTS. -
L % \EAE/ |V
= g OPPQSITE
g0 @) -
LL_ o ACTIVE ‘
X~ HANDLE / _ NAILING FIN IS OPTIONAL &
= l/ MAY BE SCORED AND
% ) / REMOVED WHEN REQUIRED
o 26" MAX. : FOR A DIRECT MOUNT
_D.LO. CONDITION. (NAIL FIN SHALL
36"/ NOT ACT AS A SUBSTITUTE
l FOR THE FRAME SHEAR
/ SCREWS SPECIFIED)
w0 |
/ ' TYPICAL FRAME SCREWS INTO
SUBSTRATE POSITIONED AS
SHOWN. SEE "FRAME ANCHOR
REQUIREMENTS TABLE” ON
THIS SHEET FOR OTHER
| FASTENER REQUIREMENTS.
8" MAX. N
(TYP.) _4 3" MAX.
STRIKE (TYP.)
PLATE EXTERIOR ELEVATION
SINGLE EYEBROW TOP
OUTSWING DOOR
SCALE: 3/4" = 1'=0Q"
Appnmduu-m.
Date 03 0
NOA# Jﬂlj

Mismi

gy Dude Preduet Contyo

DRAWN BY:
KP.S.

CHEC

W.W.S,

KED BY:

PLOT:

: DATE:
1=16

02/20/03

DATE

BY

REVISION DESCRIPTION

NO.

WEATHER SHIELD WINDOWS & DOORS

MANUFACTURER

ONE WEATHER SHIELD PLAZA

MEDFORD, WI 54451
715~748-6555

ALUMINUM CLAD FRENCH OUTSWING DOORS

-
o ]
Z 3z 7
© Sow
L ‘_',wr',:
g ©9ah
Z FES
ot 20
> . .
wo ;:‘wE
Z zZ
rE Eay
Wy . Zo
ws 503
L2z}
=2Q
4 |58 8%
= = Q .@m !
2N =20
Q . I F
< > @ Q. 3
= |27 %
5 18= z
uj
a
=z & 28
2 b3
3 5
[ X
i =
Q. zz
O - iJ
x
S
=
- . T o
DRAWING NO. |REV.
SHEET NO.
2 oF 8

~



—

136 7/8" MAX. OVERALL HEIGHT

pen—

MAX. FRAME HEIGHT (F.H.)
PER WINDOW APPROVAL

[-—

74" MAX. FRAME WIDTH (F.W.)

FIXED TRANSOM WINDOW (SEE DRAWING NO.
1210, 1071 OR 1072 UNDER SEPARATE
APPROVAL FOR DETAILS.)

2" X 5" X 1/8” 6063-T5

ALUMINUM TUBE MULLION (REF.)
SEE MULLION END CLIP DETAIL
ON THIS SHEET

ii

NO. 10 SMS FRAME SCREWS
(ONE AT EACH HEAD JAMB
CORNER, 3 AT HEAD MIDSPAN &
2 THRU STRIKE PLATE INTO
MULLION TUBE)

98" MAX. FRAME HEIGHT (F.H.)

79 15/16" MAX. D.L.O.

INACTIV
V4 E

SEE MULLION-/

\END CLIP DETAL"
ON THIS SHEET.

(CTY T2\

" 25 7/16" |

MAX. D.L.O.
AN

%

> NN,
OPPOSITE

staie \\
PLATE
L

]
* 6

L6"

EXTERIOR ELEVATION
DOUBLE RECTANGULAR OUTSWING DOOR

WITH TRANSOM

SCALE: 3/4" = 1'-0"

TYPICAL FRAME SCREWS (2 EACH
SIDE OF MULLION) SEE "FRAME
ANCHOR REQUIREMENTS TABLE”
ON SHEET 1 FOR OTHER
FASTENER REQUIREMENTS)

11 GA. X 1 1/2" ROCFING
NAILS OR NO. 7 X 1 5/8"
DRYWALL SCREWS SPACED
AS REQUIRED TO SECURE &
SEAL NAILING FIN

NO. 10 S.S. WOOD SCREW OR
MIN. 3/16" CONCRETE SCREW
(2 PER HINGE INTO SUPPORTING
SUBSTRATE). SEE "FRAME
ANCHOR REQUIREMENTS” TABLE
ON THIS SHEET FOR OTHER
FASTENER REQUIREMENTS.

TYPICAL FRAME SCREWS INTO
SUBSTRATE (ONE AT EACH SILL
CORNER, 3 AT SILL MIDSPAN &
3 THROUGH STRIKE PLATE) SEE
"FRAME ANCHOR REQUIREMENTS
TABLE" ON THIS SHEET FOR
OTHER FASTENER REQUIREMENTS
(APPLICABLE WITH BUMPER
THRESHOLD. FOR ADA
THRESHOLD CONDITION, SEE
"ADA SILL DETAIL” ON SHEET 7).

NAILING FIN IS OPTIONAL &
MAY BE SCORED AND
REMOVED WHEN REQUIRED
FOR A DIRECT MOUNT
CONDITION. (NAIL FIN SHALL
NOT ACT AS A SUBSTITUTE
FOR THE FRAME SHEAR
SCREWS SPECIFIED)

(SEE DOUBLE RECTANGULAR OUTSWING DOOR ELEVATION FOR DETAIL NOT SHOWN)

37" MAX.
FRAME WIDTH (F.W.)

12.5"
MAX 0.C.

e O I

9 15/16” MAX. D.L.O.

98" MAX. FRAME HEIGHT (F.H.)

// SEE "clRNER-)

/ CONSTRUCTION”
NOTE ON SHEET 2.

/ 11 GA X 1 1/2"
l ROOFING NAILS OR NO.
7 X 1 5/8" DRYWALL
SCREWS SPACED AS
REQUIRED TO SECURE

& SEAL NAILING FIN

& MAY BE SCORED AND
REMOVED WHEN REQUIRED
FOR A DIRECT MOUNT

4
\2/

OPPOSITE

29 11/16"
MAX. D.L.O.

7

CONDITION. (NAIL FIN

SHALL NOT ACT AS A
SUBSTITUTE FOR THE

FRAME SHEAR SCREWS
SPECIFIED)

TYPICAL FRAME SCREWS
INTO SUBSTRATE
POSITIONED AS SHOWN.,

SEE "FRAME ANCHOR

REQUIREMENTS TABLE”"
ON THIS SHEET FOR
OTHER FASTENER

REQUIREMENTS.

6" MAX.
(TYP.)

MULLION END CLIP 20 GA. (0.034")
X 15" X MIN. 5.5 LONG (MIN.
33 KSI GALVANIZED STEEL)

i 4

EXTERIOR ELEVATION —

SIDELITE

SCALE: 3/4” = 1’0"

|
|-

3" MAX.
(TYP.)

2" X 5" X 1/8"
TUBE MULLION (MIN.
6063—T5 ALUMINUM)

7 X 3/4” h 11 GA. X 1 1/2”
ﬁH SMS/ L F ROOFING NAIL/(2
(4 PER CLIP) | | PER CLIP)

i L-MIN. 2x4 P.T.

] —F WOOD BUCK  Approvedas wih e
3/8”" MAX. & BY OTHERS M""“&;

NOAS
MULLION END CLIP DETAIL Miamsi Dude Procduct Contrel

(APPLICABLE TO ELEVATION ON
THIS SHEET ONLY)
SCALE: 1/4 FULL

3% Hepwa.,

DRAWN BY:
K.P.S.

CHECKED BY:
W.W.S.

{|PLoT:
1=16

DATE:
02/20/03

DATE

BY

REVISION DESCRIPTION

NO.

MANUFACTURER

715—-748-6555

WEATHER SHIELD WINDOWS & DOORS
ONE WEATHER SHIELD PLAZA
MEDFORD, 'WI 54451

ALUMINUM CLAD FRENCH OUTSWING DOORS

DRAWING TITLE
CONSULTANTS

& CONSULTING, P.A.
8895 N. MILITARY TRAIL; SUITE C—204

W. W. SCHAEFER ENGINEERING

PALM BEACH GARDENS, FL 33410
PHONE: 561-775-4902 FAX: 561~775-4903

CERTIFICATION

(24
.
o<

. SCHAEFER, P.E.
P.E. NO. 44135

WARREN

3

[ DRAWING NO. TR

1211

SHEET NO.

oF §

2

_ |



—

149 1/2" MAX. FRAME WIDTH (F.W.) NOTE: TRANSOM
= — — — — — o — — — — . __ | lwNoows Ma
T —_— e T I LI T T T T/ T— - =/ T T T T T T T T T/ CONSIST OF UP
r e T o= == == == == == =— = _—I—TI: T e teame, o T T T | |TO 4 WINDOWS "X 2" X 4" MULLION
. [ FIXED TRANSOM WINDOW (SEE DRAWING NO. FIXED TRANSOM WINDOW (SEE DRAWING NO. 2" X 2" X 4"\
T I 1210, 1071 OR 1072 UNDER SEPARATE [ I 1210, 1071 OR 1072 UNDER SEPARATE ] l END CLIP (1/8
L= H APPROVAL FOR DETAILS.) ] ] APPROVAL FOR DETAILS.) H 6061-T6 ALUM. OR 12
= ’ NO. 10 SMS { ' 2" X 5" X 1/4" A46 STEEL TUBE MULLION I CA- GALY. STEEL
T Q. . 4 )
Sa NO. 10 SMS FRAME SCREWS AT S
L l “ RRT%MEMUSLCL%LVS DOUBLE DOOR (ONE AT EACH ”l { l ”' ‘ 1 ’“
o WITHIN 6" OF HEAD JAMB CORNER, 3 AT HEAD ‘ TYPICAL FRAME SCREWS (POSITIONED AS SHOWN
32 i f H CORNERS & MAX MIDSPAN & TWO THRU STRIKE ' ” WITH 3 EACH SIDE OF MULLIO[TJ) SEE "FRAME H , " .__G\b— )'d}
=5 6 uax ] \ : PLATE INTO MULLION TUBE) ANCHOR REQUIREMENTS TABLE” ON SHEET 1 1.5
g Tve) T 123 0.C. AT HATE INTO MULL FOR OTHER FASTENER REQUIREMENTS) v g
L5 'H' SIDELITES & | l ‘ I o YT < +
<< — ” ” 1 n " " i 13
< : SINGLE DOORS 44 @3 33" 333 3 |
‘ _H—L—i;—_—:—gg_:i_::_——z—:;— = Q ILL — = _77='=_—/='='=—'==__ s ;Jit ] — = -
. | ] N R || I , 1/2° -
1 7 ~~ / Wz N 5 TUBE MULL
T , Y ; NO. 14 SMS (REF.)
) 2 PER CLIP)—~~ -
| q // . _/ ( ™ " ,
ADDITIONAL FRAME y // Y. \ STRIKE / SEE “MULLION— é{)ilCRXET:E A
[ SCREWS INTO MULLION PLATE gﬁDTS'lePSBETE"}IL SCREWS
'— .
L (2 ADDITIONAL EACH m ) (2 PER CUP)
o -’- SIDE OF MULLION @@ / \ \-2 SCREWS PER HINGE ! =
I } THROUGH THICK SECTION / ACTIVE TO PENETRATE
4 OF JAMB)
= ' lbéi%TgE | T_%réEKL MULLION TUBE WALL
x© O / LOCK | HARDWARE  \. (TYP. EACH HINGE)
= Y. >< HARDWARE X \ O f TO _CONCRETE OR CONCR. FILLED BLOCK
2 c 3 \T Roomic NALY OR N / PATE N\ s NO. 14 SMS (TFEEBFE.)MULL
oL O 7 X 1 5/8” DRYWALL INACTIVE ACTIVE ‘ ' (2 PER CLIP) - — NO. 12 SMS
w5 % Il | SCREWS SPACED AS - . f B AR
T g = T | ReqUren 7o SECURE & 2" X 5" X 1/8 f X 1 1/2
T SEAL NAILING FIN 6065~T5 ALUMINUM . (3 PER CLIP)
Y 2 2N | (D (D JUBE MULLONA| 1o (M i
AR | /AN & L s T i i
! 1/2"
. o)) w / . . ACTIVE é 3 § 3
g " _,—P INVE I HANDLE ' MAX.
I | ADDITIONAL SILL ANCHORS A e
= HANDLE / TYPICAL SILL
; || || THROUGH THICK SECTION | " ANCHORS. INTO
& OF SILL & INTO v / SUBSTRATE PER 1O WOoD
‘Ul || SUBSTRATE (2 ADDITIONAL .
T | St & MULLION) — 23 /18 . AL UNIT MULLION END CLIP_DETAIL
- MAX. D.L.0. 36 ELEVATIONS.
SEF "FRAVE ANCHOR J (APPLICABLE TO TRANSOM MULLION
: . ON THIS SHEET ONLY)
l REQUIREMENTS TABLE \ / —FRAME ANCHORS
FOR OTHER FASTENER / STRIKE // INTO MULLION / MULLION END CLIP_NOTES:;
‘]l? REQUIREMENTS. U / PLATE / (REF. SECTION "y") 1. CUPS MAY BE PLACED IN OR OUT—SIDE
| (TYP-)—\ PLATE OF TUBE.
| 2. SUPPORTING SUBSTRATE MUST BE
: / DESIGNED BY OTHERS TO SUPPORT
_ \ / THE LOADS FROM THE MULLION ENDS.
, L= — 7 ] = o ff
6" MAX. | I ] I T R [T ILs”MAx
] » ‘ “ i3 ¥
(M) ZNAIUNG FIN IS OPTIONAL & MAY 6" 6" A ~ (TYP.) Fiorida Bajding Coge s T e

BE SCORED AND REMOVED WHEN
REQUIRED FOR A DIRECT MOUNT

CONDITION. (NAIL FIN SHALL NOT
ACT AS A SUBSTITUTE FOR THE

FRAME SHEAR SCREWS SPECIFIED)

EXTERIOR ELEVATION

OXXQ UNIT WITH QUTSWING DOOR AND TRANSOMS

31: 3n 311 3)1 31) 311

NOTE: OXXO DOOR SHOWN.
OF SINGLE/DOUBLE DOORS & SIDELIGHTS ALSO APPLY.

SCALE: 3/4” = 1'=0”

(SEE OTHER ELEVATIONS FOR DETAIL NOT SHOWN)
ALL OTHER 4-PANEL CONFIGURATIONS

THIS DOOR ALSO APPLIES
WITHOUT TRANSOMS.

NOAS O3 _Da2T 11—
lb)ﬁud Dade Praduct Control
By, .

DRAWN BY:
K.P.S,

CHECKED BY:
W.W.S.

PLOT:
1=16

DATE:
02/20/03

DATE

REVISION DESCRIPTION

NO.

7]
14
3
<
o N
5
3 7
0
£0o38
Q Wwown
2ZsT
N < mBm
x| = o<
Q r~ AR
ol 8 Ya
cl g l]—:ELD
ol T 36
2] U zu
S I
(7208 T
[ - W T zZ
DlELE O
o 55
<
T I53
O 1z
b <
] =
2.8
Ll o 2
- + ¥
2 T Koo
5 W JER
O Wae 2B
Z E &
= O~ >av
O Z,.-%x
Z l-l-lg-'_fgcf
= n:.:,é%N
] wa , %o
| L5532
< Wiin 2.1
<z Jgp©
4 258 285
o .
= Zz W Zso
© Ho& 849
Z 537 &y
= u L 4
S -
= o= T
L
a.
'}
z i)
S ot
< £~
= g
L vz
= .
[0 3
Lt
Q

APRO 12

DRAWING NO. R

2

SHEET NO.

4 o §

~ |



—

DRAWN BY: CHECKED BY:
CONTINUOUS CONTINUOUS SEALANT ROOFING NAIL OR NO. kes. | _wws
ROOFING NAIL OR NO. /" SEA|ANT BEHIND FIN ROOFING NAIL OR NO. /' BEHIND FIN BY OTHERS 7 DRYWALL SCREW | " [P a0 0s
7 DRYWALL SCREW 7 DRYWALL SCREW
BY OTHERS WITH NAILING FIN
WITH NAILING FIN FRAME CORNER SCREW WITH NAILING FIN STRIKE SCREW INTO (SEE SHEET 1) FRAME SCREW w
(SEE SHEET 1) PER ELEVATIONS (MAY BE  (spp shEeT 1) SUBSTRATE (REF. FRAME SCREW PER PER ELEVATION E
. THICK_ SECTION OF JAMB) .~ .- 7 .. POSITIONED AT THIN OR  [7*IN- oo . - - TN oxa b
ey C e cw - 00 0 THICK SECTION OF JAMB)  |=7s]: N, & o Tagw Tt e : T,
e T s Al o7 THICK SECTION OF JAMB) Al Ne T e v T 2 woop BucK .
A4 S / BY OTHERS 5
— MIN. 2X4 P.T. ., —MIN. 2X4 P.T. ., M " &
/ wooD BUCK _1/4" MAX. / WOOD BUCK _1/4" MAX, ¢ 1 /SALPAéAéx. ;
BY OTHERS SPACE BY OTHERS SPACE ' z
— g T SEALANT BY T :
e = | . OTHERS ,
SEALANT 2
51 \ )
14 [( BY L ( 29)
OTHERS 0
47 29(32 & -~ S
MORYE CONTINUOUS SEALANT S <
SEALANT BY \ BEHIND FIN -(2) oy
OTHERS \ D BY OTHERS 82
Te]
<> [%2]
© o 2228
QF_o©
7)) £ = |
_ SEE GLAZING _ SEE GLAZING oL DLALING =~ A B
SENREN DETAIL ON AN DETAIL ON SHEET 7 RO NN ol gugh
/ NV SHEET 7 / N SHEET 7 / N\ | WEQw
'/ \\\ \ ‘/ \\\ \ ' _ D \ I (ZD % L|§_I S =
N - 3 - =| « =
\ : \ : \ i £ Pl e
\ / E \ )/ e N d = S kg °
N2 5 NIT - 5 pirbad : 5=
Lt L
EXTERIOR - EXTERIOR - EXTERIOR - é E
<§( <§E 4 32':: b % é
fa% o? () < 32
Vi - Vi i @ W b = %9-:,3
/'® ARG 7 a8 SILL SCREW O Yg Bl
L—SILL CORNER Y L SILL MIDSPAN PER ELEVATION =| %38
SCREW PER ao0) SCREWS PER \ - z | Gg gg2
ELEVATIONS. (MAY A ELEVATIONS (3 A = | «F £S5,
BE POSITIONED IN TOTAL AT ~® 2| B33
WOOD OR VINYL MIDSPAN OF SILL) <l £25z5)
AREA OF SILL) / SILICONE y .55 53R
— SILICONE LA ( " BACKBEDDING BACKBEDDING A T
BACKBEDDING / / S FERS £
) ( g . o]
) SILICONE PO, .
D % BEAD ui
‘jr_—,—l"é 7 15 g / z % Z‘i‘”
. i & 8 N\ |B2
= >
r A. ES
= j
SUBSTRATE Approved 2s complying with the ol = g
BY OTHERS STRIKE_FASTENER UB Torida Boidiag &
£ STRATE IE
SUBSTRATE ; (REF. ELEVATIONS) SRl " -
, SECTION /AN SECTION B SECTION /N DRA1WE‘<1? 1N°- REV.
SCALE: 1/2 FULL \&_/ SCALE: 1/2 FULL \5J SCALE: 1/2 FULL \5_/ g’%m@mﬂ ——
(FOR DETAIL NOT SHOWN, SEE SECTION "A") 5 o B

|



—

1/4" MAX. __

MIN. 2X4 PT.—
WOOD BUCK \
BY OTHERS

SHIM

~—————— FRAME WIDTH (F.W.)

_ 1 SEE GLAZING
N ) DETAIL ON
” N SHEET 7
NAIL FIN SCREW B9 ®
PER ELEVATIONS )
v
HINGE SCREW N
INTO BUCK (2 /
PER HINGE PER 60 7 \
ELEVATION) . . f /
SEALANT BEHIND —_ ® "
FIN BY OTHERS vl o N\ } o
OAN62 \‘@
N 373840
SEALANT BY 14
OTHERS SECTION /T
SCALE: 1/2 FULL U6
(ADJUSTABLE HINGE CONFIGURATION)
14 MG 1L FRAME WIDTH (Fw
SHIM (FW.)
MIN. 2X4—
il WOON SEE GLAZING
Buck By - 1 DETALL ON
OTHERS -+ &~
NN SHEET 7
HINGE SCREW . 48149
INTO BUCK (2 y
PER HINGE PER \. ) o —
ELEVATION) N ~ N
NAIL FIN SCREW—_ " / P \
PER ELEVATIONS\ (/
SEALANT BEHIND —~__ %" 81 /
FIN BY OTHERS L %
O
39
CUT SCREW OFF SEALANT BY 7
FLUSH WITH OTHERS
BACK OF JAMB.
SECTION

SCALE: 1/2 FULL \ 6/
(BUTT HINGE CONFIGURATION)

FRAME SCREW PER ELEVATIONS
(MAY BE POSITIONED AT THIN OR
THICK SECTION OF JAMB)

SECTION

(B

SCALE: 1/2 FULL \6/

57 D 5
46 48149 \
45 44 /
N 58 P
AN ( ]
59
4] /
\. \‘
—
o - — L@ /\—SEE GLAZING
DETAIL ON
SHEET 7
13 N
SECTION /0
SCALE: 1/2 FULL \6.)
MIN, 2x4 o7 — MR FRAME WIDTH (F.W.)
WOOD BUCK :
BY OTHERS
36 -.-vi.‘. < T~ \
™ 4849
NAL FIN SCREW—; /
PER ELEVATIONS ™ 7
SEALANT BEHIND —_" " - B (
FIN BY OTHERS o] \ /
SEE GLAZING
@ 51 DETAIL ON
SEALANT BY 4
OTHERS

DRAWN BY: CHECKED BY:
K.P.S. W.W.S,

PLOT: DATE:
1=2 02/20/03

DATE

BY

REVISION DESCRIPTION

NO.

D PLAZA
Wi 54451
715—-748—-6555

MEDFORD,

WEATHER SHIELD WINDOWS & DOORS
ONE WEATHER SHIEL

MANUFACTURER

ALUMINUM CLAD FRENCH OUTSWING DOORS
RING
ITE C—204
0

561-775-4902 FAX: 561-775-4903

& CONSULTING, P.A.
8895 N. MILITARY TRAIL; SU
ALM BEACH GARDENS, FL 3341

P

W. W. SCHAEFER ENGINEE
PHONE:

DRAWING TITLE
CONSULTANTS

CERTIFICATION_
" SCHAEFER, P.E.
NO. 44135

APR 0 1 2003

-3
)
24
£
ES

2

DRAWING NO. |R

211

SHEET NO.

6 o 8




—

#10 SMS @ 6” FROM
CORNERS & MAX. 12" 0.C.

TUBE MULLION
PER ELEVATIONS

IN

#10 SMS SCREWS PER
ELEVATION (SEE SECTIONS
”A”

& "B" FOR POSITIONS
CROSS SECTION)

FIXED WINDOW
PER WINDOW
APPROVAL

2 ANCHORS

STRIKE WHEN INTO WOOD.

NO. 10 SMS INTO WOOD OR 3/16" CONCRETE
SCREW INTO CONCRETE (REF. "FRAME ANCHOR
REQUIREMENTS TABLE” ON SHEET 1 FOR
OTHER ANCHOR REQUIREMENTS).

PER STRIKE WHEN INTO CONCRETE; 4 PER

I
/

|~— FRAME HEIGHT (F.H.)

SECTION _

SCALE: 1/2 FULL 7/

1/4" MAX. _|
SHIM

FRAME SCREW —,

PER ELEVATION\

MIN. 2X4 P.T.— ...

WOOD BUCK .

BY OTHERS o )
NAIL FIN SCREW —. .

PER ELEVATIONS \\N

<

v

SEALANT BEHIND %" -
FIN BY OTHERS _\

FRAME WIDTH (F.W.)

(FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS)

1

48(49

AN

9

SEALANT BY
OTHERS

CTION
SCALSE:ET /2 FULL @

)

14

o \ EXTERIOR

P Al o o ot 2 a7 R
AAAAALA

OPTIONAL ADA SILL DETAIL

SILL SCREWS SHOWN CONSIDER A

DOUBLE DOOR CONDITION. AT

SINGLE DOORS, ONLY 3 SILL SCREWS
ARE REQUIRED (6" FOR SILL ENDS
AND AT SILL MIDSPAN).

STRIKE

SCREWS ONLY NEED TO PENETRATE
THRESHOLD AT SINGLE DOOR.

211 X 5n X 1/8"

TUBE MULLION
(MIN. 6063-T5

ALUMINUM)—\

#10 SMS SCREWS PER

NO. 10 SMS INTO WOOD OR 3/16"
CONCRETE SCREW INTO CONCRETE
(REF. "FRAME ANCHOR REQUIREMENTS
TABLE” ON SHEET 1 FOR OTHER
ANCHOR REQUIREMENTS).
FROM EACH END OF SILL AND 2 AT
SILL MIDSPAN SPACED 6" APART.

7/16"
SEE OPTIONS 1,

2 & 3 BELOW
FOR GLAZING

EXTERIOR

7/16" MIN.
GLASS BITE

GLAZING DETAIL

|

ONE 6"

"———— 4.563 —————n]
S A4

S

7/16" SOLUTIA KEEP
SAFE LAMINATED GLASS
(3/16” AN./0.090"

B PVB/3/16" AN.)

SHIM AS
REQUIRED

GLAZING OPTION 1) NOVA GUARD BC4-121 STRUCTURAL

SILICONE @ INTERIOR & NOVA GUARD
M418 STRUCTURAL SILICONE @ EXTERIOR

GLAZING OPTION 2) GE SILGLAZE HC STRUCTURAL SILICONE

@ INTERIOR & GE ULTRA GLAZE
STRUCTURAL SILICONE @ EXTERIOR

GLAZING OPTION 3) DOW CORNING 899 STRUCTURAL SILICONE

@ INTERIOR & GE ULTRA GLAZE
STRUCTURAL SILICONE @ EXTERIOR

4313 ————

ELEVATION (SEE SECTIONS

"C1"’ ”C2” & an FOR

POSITIONS IN CROSS SECTION)

fy

b

SECTION

N

SCALE: 1/2 FULL \7/
(FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS)

1.250 P — 278 —
0.609 | LT) 1.393 r
P03 — o7i9d I
(1) HEAD & SIDE_JAMB (2) SILL_JAmB (3)SILL BASE
r 2.406 T0 0.687
4.500 4.762 . __L
2171 2218 jm 0.468
| e |
(¥) ToP_RAL NARROW  (6)QAK THRESHOLD
SIDE_RAIL LEGACY
’ - 9.500 |
2,122
(7) BOTTOM RAIL
0.500 i e

‘+ 1.094 }':T 0.279

GLAZING STOP

(« 0.500
El

@ ASTRAGAL
SCREW CAP

CHECKED BY:
W.W.S.

PLOT: DATE:
1= 02/20/03

REVISION DESCRIPTION

NO.

PLAZA
Wi 54451
715~748-6555

MEDFORD,

WEATHER SHIELD WINDOWS & DOORS
ONE WEATHER SHIELD

MANUFACTURER

ING
561-775~4903

UITE C-204
, FL 33410

PALM BEACH GARDENS
PHONE: 581-~775-4902 FAX:

ALUMINUM CLAD FRENCH OUTSWING DOORS

W. W. SCHAEFER ENGINEER
& CONSULTING, P.A.
8895 N. MILITARY TRAIL; S

DRAWING "TITLE
CONSULTANTS

BRAWING o TR

CERTIFICATION
. NO. 44135

WARREN ;:/ SCHAEFER, P.E.

)
<




-

ITEM #l DRAWING # ITEM DESCRIPTION MANUFACTURER/NOTES | 'DRA‘;’(NP? Criecxen ax:
PARTS A : — PLOT: DATE:
1__] 08-1006-C2503 |HEAD & SIDE_JAMB * WOOD ~762 | 4762 l ~—1.730 _’|_~_ 1=z | 02/20/03
2 | 08-0002-W2402 [SILL JAMB * WO0D
3 | 08-0004-W2402 |SILL BASE * WOOD K |
4 | 08-1072-W2427 |TOP RALL * WOOD e
—_ — - x
O 70 AT Fiioon 2.219 2218 2250 |l
®
7 | 08~1071-W2427 |BOTTOM RAIL * WOOD
8 08-1680-02 | GLAZING STOP * WOOD ‘i i 2
9 08-W8075 ASTRAGAL SCREW CAP * WOOD . B 8
10 | 08—1087-C2537 |HINGE STILE * WOOD &
1| 05~1085-C2537_|LoGK STLE V00D HINGE STILE (1) LOCK_STILE (12)INTERIOR ASTRAGAL [Z
12 08-1611-02__ | INTERIOR ASTRAGAL * WO0D I — a
13 | 08-1089-C2537 [INACTIVE MEETING STILE * WOOD Z
14 | 04-0004-C2403 |HEAD & SIDE FRAME CLADDING 6063—T5 OR 6063-T4 ALUMINUM . 4.762 ’ g
15 | 04—0009-W2402 |SILL JAMB CLADDING 6063—T5 ALUMINUM &
16 | 04-0056-C2427 |TOP RAIL PROFILE 6063~T5 ALUMINUM 0.050 ’* 3.348 .
17_ | 04-0016-C2033 |STILE PROFILE 6063=T5 ALUMINUM 1.500 g
18 | 04-0018-C2033 |NARROW STILE PROFILE 6063-T5_ALUMINUM — 1.200 l— 2.141
19 | 04-0015-C2022 |BOTTOM RAIL PROFILE 6063—T5 ALUMINUM 2219 f
20 | 04-0050-W1802 | HANDICAP SILL 6063—T5 ALUMINUM ﬁm 0.075 @
21| 04-0011-W2487 - |EXTERIOR ASTRAGAL COVER 6063—T5 ALUMINUM L\m 1.424 S
22 04-A1621 MULLION COVER 6063-T5_ ALUMINUM -C —L ' Q «
23 02-1514-02  [BOTTOM SWEEP VINYL 2.914 i Q %
24 | 04-0010-W2487 |ASTRAGAL BASE 6063~T5 ALUMINUM d g
25 | 02-0005-W2402 | THRESHOLD VINYL . 0
26| 02-0006-W2402 | STATIONARY SILL FILLER CLIP VINYL @ INACTIVE MEETING HEAD & SIDE @ SILL _JAMB £ 938
27A | 12-0017-W2471 | GROMMET PVC STILE FRAME CLADDING CLADDING Q www
278 | 12-0209-W2596 | SINGLE PANEL GROMMET PVC _ e nl Z A
28 12-1557-02 _ |HEAD JAMB BACKER PLATE (10.125" X 4.50° X .080") STAINLESS STEEL — 5000 2.768 el = ®
29 | 12-0011-W2401 |SINGLE DOOR TOP BOLT STRIKE PLATE (1.495" X 1.320° X .119") | 304 S.. .00 5.214 I : Q| 5 Ho~
30 12-1463-02 | SINGLE DOOR SILL BOLT STRIKE PLATE (2.853" X .800" X .120") |304 S.S. 0.050 0.050 — 8 . I% !
31 12-1464~02  |DOUBLE DOOR SILL STRIKE PLATE (4.000" X 2.817" X .125%) 304 S.S. ‘ r P 0.654 W
32 12-1465-02 _ |DOUBLE DOOR HEAD STRIKE PLATE (5.634" X 1.762" X .060") | 304 S.. 0.616 ! J 0.654 ) - 0.050 — 21 5 ga ~
33 | 12-0013-W2403 [TONGUE STIKE PLATE (5.000” X 1.000" X .059") 304 S.S. : %]\L : f =l o =
34 | 12-0211-W2596 |ADA SINGLE DOOR STRIKE PLATE (3.028” X 1.000" X .060") 304 S.S. _f‘— ‘ T— O lew ¥
35 | 12-1201-02  [PANEL CORNER REINFORCEMENT BAR (10.100° X 1,000° X .120°] |304 S.5. — 1 PER PANEL CORNER @ T0F _RAIL PROFILE @STILE PROFILE NARROW STILE || 2 [E£ ©
36 12-1286-02 _ [SINGLE DOOR STILE LOCK STRIKE (9.331" X 1.320" X .118") 304 S.S. PROFILE o 5
HARDWARE : A 1 W &
37__| 12-0001-W2477 |VERTICAL ADJUSTABLE HINGE (PLATED STEEL OR S.5.) VARIANT HEAVY DUTY OR MILLENIUM STANDARD 10.000 | 5 gg
38 | 12-0002-W2477 |[HORIZONTAL ADJUSTABLE HINGE (PLATED STEEL OR S.S.) VARIANT HEAVY DUTY OR MILLENIUM STANDARD L r 0.100 l ~— 2.500 g E
39 12-1594-02 _ [4" X 4" BUTT HINGE (PLATED STEEL OR S.5.) HAGER 1191 { e P
40 12-1718-02 | VARIANT HINGE (PLATED STEEL OR S.5.) SIMONS-WERK 0.616 J: J o S
41 12-1601-02__ [10 MM _SHOOT BOLT GUIDE NYLON 6, 30% GLASS FIBER e} 0.592 al £ 3.1
] - [ved N9
42 12-1624-02  |ACTIVE HANDLE SET WITH KEYED CYLINDER AS REQUIRED TO OPERATE DOOR LOCKS f BOTTOM RAIL PROFILE f J é oL AR
43 12-1625-02___|INACTIVE HANDLE SET AS REQUIRED TO OPERATE DOOR LOCKS : l___ 0.045 0.056 Zé w e
44 12-1607—-02 _ |2-POINT CONCEALED INACTIVE PANEL LOCK SET HTL l ’ =| o gd“_’_k
45 12-1558-02 | .38 TOP & BOTIOM EXTENSION ROD CONCEALED HOPPE NORTH AMERICA HLS SERIES 6.531 T @MULUON COVER 2| G0 558
46 12157602 |5-POINT ACTIVE PANEL LOCK ASSY. W/SHOOT BOLTS HOPPE_NORTH AMERICA HLS 9000 SERIES 0.110 S| &8 g
SEALS & SEALANTS : s 1.750 —=j 1.197 5 '::L"; ggg
47 | 12~0050-W2463 [HEAD & SIDE TFT WEATHERSTRIP POLYPROPYLENE = ] o3
48 | 12-0005-P2262 |INTEK ARLOC WEATHERSTRIP VINYL / :{JQF f m 0.500 “—L | 2.634 | = 3‘:% ELfd
49 12-1602-02 | AMESBURY WEATHERSTRIP VINYL f l ﬁ ‘ c z 288 :E_’T
FASTENERS i i = — |F 3
50 - F16 X 1 1/2" BRAD NAL 2" FROM ENDS & 13" MAX. O.C. 20).1ANDICAP_SILL EXTERIOR I ' ' I N P éfg:
51 - 3/16" X 1/2° STAPLE 3" FROM _ENDS & 20° MAX. O.C. STRAGAL COVER z 2. " &
52 - NO. 8 X 2 1/2" DRYWALL SCREW 3" FROM_ENDS & 16" MAX. 0.C. 1.961 0.070 & 8= z
53 - NO. 7 X 5/8” FH WOOD SCREW 8 PER HEAD JAMB BACKER PLATE )
54 = NO. 7 X 5/8" FH WOOD SCREW 2 PER HEAD STRIKE PLATE 1.650 0.120 _,' . 1.753 @BOT{'OM SWEEP uj
55 ~ NO. 8 X 1 1/4” WOOD SCREW 4 PER CORNER REINFORCEMENT PLATE ‘ 0.090 s
56 - NO. 8 X 1 1/2" FH SMS_SCREW 1 PER SINGLE/2 PER DOUBLE STRIKE PLATH { f \ } ' = o
57 - NO. 8 X 3 1/2" FH WOOD SCREW 2" FROM_ASTRAGAL ENDS & 6" 0.C. ( —J i . N 2 e~ bY
58 - NO. 8 X 2" FH DRYWALL SCREW 1 1/2" & 2 1/2" FROM PANEL ENDS 1.442 D : 1.396 0.703 Sl e
59 - NO. 8 X 1 3/4" WOOD SCREW 10" FROM ASTRAGAL ENDS & 8" O.C. I 1 0.125 ]_ I e ge
60 - NO. 8 X 1 1/4" WOOD SCREW 4 PER ADJUSTABLE HINGE INTO STILE f o P S
61 - NO. 12 X 1 1/4" FH WOOD SCREW 4 PER_BUTT HINGE INTO STILE : Hlan 2o
62 - NO. 8 X 5/8" FH WOOD SCREW 2 PER ADJUSTABLE HINGE INTO JAMB ASTRAGAL BASE @ THRESHOLD STATIONARY SILL =L &
63 - NO. 12 X 1 1/4" FH WOOD SCREW 2 PER BUTT HINGE INTO JAMB <
64 ~ NO. 18 X 1/2" X 1" S.5. STAPLE 2" FROM_ENDS & 4" 10 6" O.C. FILLER CLIP =
* WOOD USED WITH TEST UNITS WAS SELECT WESTERN PINE. ALTERNATE WOOD SPECIES TO BE BT [
APPLICABLE WITH THESE WINDOWS IS MIN. SELECT MAHOGANY, SOUTHERN PINE, OAK, CHERRY, 11
MAPLE, DOUGLAS FIR & CYPRUS. 1211
SHEET NO.
8 or 8

[

]



